
Physics 5A - Winter 2021 Midterm 3
ZOE GLEASON

TOTAL POINTS

100 / 100

QUESTION 1

1 1 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 2

2 2 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 3

3 3 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 4

4 4 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 5

5 5 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 6

6 6 40 / 40

✓ + 40 pts Correct $$a = \frac{mg(\sin\theta - \mu_k

(1+\cos\theta))}{2m + M_{p}/2}$$

   + 10 pts Partial Credit: Block 1 $$ ma = T_1 - \mu_k

mg $$

   + 10 pts Partial Credit: Block 2 $$ ma = mg\sin\theta

- \mu_kmg \cos\theta -T_2$$

   + 10 pts Partial Credit: Pulley $$T_2R - T_1R =

I_{pulley}\alpha$$

   + 5 pts Partial Credit: No Slipping $$\alpha = a/R$$

   + 0 pts No points

QUESTION 7

7  40 / 40

✓ - 0 pts Correct

   - 10 pts Incorrect final answer

   - 5 pts Incorrect unit for final answer

   - 10 pts Incorrect understanding for balancing of

torque

   - 10 pts Incorrect equation established for balancing

of torque

   - 5 pts Wrong concept of force
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